JA7V BN E R

Variable Displacement Pump
JA7V

vine MBRERERRAA
"™ " Nantong Jinda Hydraulic Co.,Ltd.



RS
Ordering Code

JATVII60[[LV| | T | [L||P||F|]|O]]|0O

\\ WBhoftAuxiliary equipment: O—7Cnone
THEMRfZStroke limiter :
0-—7JCnone
M—HLIRA T AL R 7 mechanical 1y adjustable (for LV and DR)
H—W 5 TFE R 7 stroke limiter, hydraulic (for LV)
Lyl F13ZEHE Pipe connections:
F: & /73 APressure port—— SAEEE:, EESAE flange, on side
W91 Suction port — SAE{E:, FEMIMSAE flange, on side
G: JE )i HPressure port—UWE4EE, 7EMM threaded, on side
WY9M I Suction port — SAEVE™:, FEMMHSAE flange, on side
—Hliff Shaft End: P-—T4# keyed shaft GB1096-79
7—1e5d splined shaft DIN5480
S—Atf# splined shaft GB3478.1-83
L m (MRS ) Direction of rotation: R—JFilf4tclockwise; L—Wilf4tanti—clockwise
L ZER R, Series: FAESize 20-160 Zif4Series 1 #A&Size 250-500 #hEf4Series 5.1
—Ax & 57 Control device:

LV——1HIf)$ 48 & Constant HP control MA—TF-3h4F & Manual control
DR—{HJE4F & Constant pressure control HD——¥354F& Hydraulic control

— JiH& Size: 20. 28. 40. 55. 58, 80. 78. 107. 117. 160. 250. 355. 500 ml/r
— EME Pump type: R XA EH Axial piston variable displacement pump

HEIH

Construction
1. BZRimE Oil seal kit 8. 55 &i&FE Pilot piston 15. i2HA T EiF 59247 Adjusting screw
2. #%3 Front cover 9. XIhZ3#% Bigger power spring 16. TEEHZE Flow piston
3. F % Shaft 10. /NN E3#EE Smaller power spring 17. KiREBRALERET Limiter screw
4. i3 E Dishing Spring 11. T#F Control rod 18. fiti & Port plate
5. #FZE A Pistion 12. IE K Regulator housing 19. £I4& Cylinder block
6. iz Center pin 13. fARRIEZE A1 Assembly parts 20. [El#2# Retainer

7. INFREPRALRET Limiter screw 14. IR S T3 E Adjusting spring



e

Feature

B R pEEETER, BTFAXOBEEEES.
Variable displacement pump, axial piston, bent axis design,
for hydrostatic transmissions in open circuits.

B RESHERHEMEL, AEERETALALTHER,
The flow is proportional to the drive speed and the
displacement, the displacement is steplessly variable at
constant drive speed.

B SUENERAGRKERME, FERPREB R,
BER, BES
High performance rotary group with well-proven spherical

control area offering the following advantages: self-centering,
low peripheral speed, high efficiency.

B EHRERZ R E A,

Drive shaft will support radial loads.

m BEFRER. FHRELS

Low noise level, long service life.

BAEH

Technical Date

H# Size 20 28 40 55 58 80 78 107 117 160
LV {BIhZ & Constant HP control [ ] [ ] [} [} [ [ ° [ ] [ [
mEAR DR {8J/EZE & Constant pressure control [} [} ® ® ®
Control device | \p si=as & Hydraulic control ° ° ° ° ° ° ° ° ° °
MA FZ1ZEE Manual control [ ] [ ] ° [ ] [ [} ) ® ) [}
. Ve (MIT ) 205 28.1 40.1 54.8 58.5 80 78 107 117 160
Displacement | v = (myr ) 0 8.1 0 15.8 0 23.1 0 30.8 0 46.1
#£0.09MPa” n,,0.09(t/min) 3800 2800 3200 2360 2850 2120 2540 1900 2240 1650
ffﬁii #£0.10MPa” n,,0.10(/min) 4100 3000 3400 2500 3000 2240 2700 2000 2360 1750
#£0.15MPa”  n,,,0.15(/min) 4750 3600 3750 3000 3350 2750 3000 2450 2650 2100
#£n,,0.09  Q,,,0.09(/min) 76 76 124 125 162 165 192 197 254 256
%ﬁ;’?;ﬁvva #ENpw0.10 Q0 0.10(/min) 82 82 132 133 170 174 204 208 268 272
#En,,0.15  Quay0.15(/min) 94 98 146 160 191 213 227 254 301 326
£ Quu0.09 T P,,0.09(kW) 46 46 75 75 97 99 115 119 153 154
BRINE
Max.Power £ Quu0.10 T P,,0.10(kW) 49 49 79 80 102 105 122 125 161 164
AP Q015 T Pou0.15(cW) 57 59 89 96 115 128 137 153 181 196
8 Flow Q? | % nE=1450r/min F (Vmin) 28.2 395 56.4 77.1 82.3 1125 110 150.5  164.6 225
Zjﬁ 3'?50&"2; #E NE=1450r/min & (kW) 17 24 34 46 50 68 66 91 99 135
4158 Torque M | B VOna T (N -m/10MPa) 326 447 63.8 87.1 93 127.2 124 170.1 186 254.4
AP=10MPa | 2 vqg R (N -m/L0MPa) - 12.9 - 25.1 - 36.7 ; 49 - 733
B4 Mmax | E Ve T (N M) 114 156 233 305 326 445 434 595 651 890
AP=35MPa | £ vg,. T (N -m) - 45 - 88 - 129 - 171 - 275
{245 Moment | J (kgm?) 00017 00017 00052 00052 00109 00109 00167 00167 00322  0.0322
8 Weight | (kg) 19 19 28 28 44 44 53 53 76 76

E 1) FREAWRMO S MEIES | BAE V0. AT il TE,
The values shown are valid for Vg,,.,, with an absolute pressure at suction inlet S and when operated on mineral oil.
2). ABRERA 97% ITHFB.
Caculated with a volumetric efficiency of 97%.
). AEMITIERB T RERHAB[ELWMO S 7 0.15MPa THIREFHE, B3 Vgmin>0 FI#IE: 28-20. 55-40, 80-58. 107-78, 160-117, FIiEIhRE/IMHE
& (Vg<Vgmax) SHREXREN T %, EEEEERE XA Vgmin=0 FIARLENIE M,
Pump's speed don't exceed the permissible max.speed at 0.15MPa in suction S. On those sizes with Vgmin>0,however the max.speed can be increased to the

values for those sizes with Vgmin=0 by reducing the displacement(Vg<Vgmax) and maintaining max.flow. The relevant sizes are 28-20, 55-40, 80-58, 107-78,
160-117.



SMER T

Dimension

Z splined shafi DINS480 A2
S splined shaft GB3478,1-83 | A3
ZEHEHAD INS480
STt (683476, 1-83)

A7

A8
A9

AlS |

@A14h6

I_I:
i

A0 L

P ER4HCB1096-79 st
Parallel keyed GB1096-79 Anti-clockwise Rotation Mode

THRAFHEHEH
T1 used for with cut-off only
MG RERE R
Clockwise Rotation Mode
A38

GIEEPIy
7 B

HEhTH REfTRRLE (ATL

|l s #0o
A,B
| EHIGB1096-79 S
= parallel keyed GB1096-79 R
A67 T1
X1

X2

A1,X3

G

EhOSAEE=

IiemO
{133 m}
#5850
KSEEEO
®SEHO
BEEHO
D
EEEHO

[
Z Direction

THRATFHEHER

L 2opalal
Thread port

Pressure port SAE flange

A4l

T1 used for with cut-off only

XL FHE MR
X3 used for with cut-off only

X2 W5 PLug

Auxiliary equipment: Hydraulic stroke limiter(for LV)
$RBhFT i MURITIZIRILES (ATFLVANOR)
Auxiliary equipment; mechanical stroke limiter(for LV and DR)

Oil port:

Perating port

Suction port

Air bleed port

Pilot oil return line

Pilot pressure port

Remote pressure port

Ports for remote control valve
Remote pressure port




51 ##E 20 ~ 160 S ERTFE

Unit dimensions series 1 size 20~160

?‘E o’ Al A2 A3 A4 A5 A6 A7 A8 A9 A10 All Al12 A13 dfép Al4 A15 Al6 Al7 A18 Al19 A20
20 9 251 224 199 107 75 16 25 43 28 80 160 M12 20 100 M8 215 85 52 20 38
28 16 260 232 195 107 75 16 25 43 28 80 149 M12 20 100 M8 215 95 50 34 38
40 9 317 287 255 123 108 20 32 10 35 28 123 244 M12 20 125 M12 25 95 63 23 50
55 16 327 296 251 123 108 20 32 10 35 28 123 M12 20 125 M12 25 63 41 50
58 9 374 337 304 152 137 23 32 10 40 33 152 295 M12 18 140 M12 30 106 7 26.5 63
80 16 385 351 300 152 137 23 32 10 40 33 152 M12 18 140 M12 30 77 48 63
78 9 381 347 310 145 130 25 40 10 45 375 145 298 M12 17 160 M12 35 113 80 29 63
107 16 393 358 305 145 130 25 40 10 45 375 145 M12 17 160 M12 35 80 50 63
117 9 443 402 364 214 156 28 40 12 50 43 1745 | 350 M16 24 180 M16 40 130 93 33 75
160 16 454 414 359 213 156 28 40 12 50 43 174.5 M16 24 180 M16 40 88 58 75
ijgf A21 A22 A23 A24 A25 A26 A27 A28 A29 A30 A31 A32 A33 A34 A35 A36 A37 dip A38 A39 A40 A41
20 69.9 94 35.7 78 132 95 11 235 125 58 58 118 50.8 19 23.8 46 M10 17 193 19
28 69.9 94 35.7 59 145 80 11 235 125 58 58 118 50.8 19 23.8 46 M10 17 189 33
40 77.8 102 42.9 87 166 109 135 29 160 71 81 150 50.8 19 23.8 53 M10 17 253 261 23 98
b5} 77.8 102 42.9 64 182 91 113305 29 160 71 81 150 50.8 19 23.8 53 M10 17 249 40
58 88.9 115 50.8 93 168 113 13.5 33 180 86 92 165 57.2 25 27.8 64 M12 18 301 313 26 109
80 88.9 115 50.8 68 194 185 33 180 86 92 165 57.2 25 27.8 64 M12 17 300 48
78 88.9 115 50.8 101 180 120 17.5 34 200 89 93 190 57.2 25 27.8 64 M12 17 306 318 28 119
107 88.9 115 50.8 73 200 98 17.5 34 200 89 93 190 57.2 25 27.8 64 M12 17 301 49
117 | 106.4 | 135 61.9 114 195 137 17.5 36 224 104 113 210 66.7 32 31.8 70 M14 19 359 369 32 136
160 | 106.4 | 135 61.9 83 212 112 17.5 36 224 104 113 210 66.7 32 31.8 70 M14 19 354 57
ij:l'jg A42 A43 Ad4 A45 A46 A47 A48 A49 A50 A51 A52 & deep A53 A54 | A55 A56 A57 A58 A59 A60 A61
20 M8 27.9 25 19 50 38 M27x2 257 226 230 M3 9 108 8 8.8 42 161 14 176 7 104
28 M8 27.9 25 19 50 38 M27x2 269 234 242 M3 9 108 8 8.8 42 161 14 186 58 84
40 M12 33 30 28 60 40 M33x2 323 290 279 M4 10 134 10 11.2 184 16 204 85 117
65} M12 33 30 28 60 40 M33x2 337 299 292 M4 10 134 10 11.2 184 16 215 62 98
58 M12 38 35 28 70 62 M42x2 378 344 330 M5 12 155.5 16 18 52 228 24 251 91 116
80 M12 38 85} 28 70 62 M42x2 391 354 343 M5 12 1555 | 16 18 52 228 24 265 65 91
78 M12 43 40 28 80 55 M42x2 385 352 338 M5 12 169 16 18 52 236 24 261 99 124
107 M12 43 40 28 80 b5} M42x2 400 363 351 M5 12 169 16 18 52 236 24 276 71 98
117 M16 | 48.5 45 36 90 65 M48x2 445 408 384 M5 12.5 192 16 18 65 266 24 294 111 137
160 M16 | 48.5 45 36 90 65 M48x2 461 420 399 M5 12.5 192 16 18 65 266 24 310 79 108
= = - ; -
ane | A2 | As3 | nea | s | e | TR caioneys INSaBD. costretas R R
20 129 35 30 228 92 # 2x10 # 8x40 W25x1.25x18x9g EXT18Zx1.25mx30Rx5f 1.2 0.8 12
28 114 85} 30 238 73 # 2x10 ## 8x40 W25x1.25x18x9g EXT18Zx1.25mx30Rx5f 1.2 0.8 12
40 147 30 30 276 104 # 3x10 $# 8x50 W30x2x14x99g EXT14Zx2mx30Rx5f 1.6 1.5 16
55 128 30 30 288 83 # 3x10 # 8x50 W30x2x14x9g EXT14Zx2mx30Rx5f 1.6 1.5 16
58 142 33 33 328 104 ## 5x16 ## 10x56 W35x2x16x9g EXT16Zx2mx30Rx5f 1.6 1.6 16
80 120 33 33 339 80 # 5x16 # 10x56 W35x2x16x99g EXT16Zx2mx30Rx5f 1.6 1.6 16
78 150 33 33 336 112 # 5x16 £ 12x63 W40x2x18x9g EXT18Zx2mx30Rx5f 25 1.6 20
107 126 & 33 348 86 # 5x16 ## 12x63 W40x2x18x9g EXT18Zx2mx30Rx5f 25 1.6 20
117 164 34 34 382 125 # 5x16 $# 14x70 W45x2x21x9¢g EXT21Zx2mx30Rx5f 25 25 20
160 137 34 34 396 96 # 5x16 ## 14x70 W45x2x21x9g EXT21Zx2mx30Rx5f 2.5 2.5 20
Mg size X1, X2 Al, X3 T T1 R G A. B S EE weight Kg
20 M14x1.5 M12x1.5 M12x1.5 M12x1.5 M16x1.5 M14x1.5 SAE3/4" or M27x2 SAE1 1/2" 19
28 M14x1.5 M12x1.5 M12x1.5 M12x1.5 M16x1.5 M14x1.5 SAE3/4" or M27x2 SAE1 1/2" 19
40 M14x1.5 M18x1.5 M12x1.5 M18x1.5 M18x1.5 M14x1.5 SAE3/4" or M33x2 SAE2" 28
55) M14x1.5 M18x1.5 M12x1.5 M18x1.5 M18x1.5 M14x1.5 SAE3/4" or M33x2 SAE2" 28
58 M14x1.5 M18x1.5 M12x1.5 M18x1.5 M18x1.5 M14x1.5 SAEL" or M42x2 SAE2 1/2" 44
80 M14x1.5 M18x1.5 M12x1.5 M18x1.5 M18x1.5 M14x1.5 SAE1" or M42x2 SAE2 1/2" 44
78 M14x1.5 M18x1.5 M12x1.5 M18x1.5 M18x1.5 M14x1.5 SAEL" or M42x2 SAE2 1/2" 53
107 M14x1.5 M18x1.5 M12x1.5 M18x1.5 M18x1.5 M14x1.5 SAE1" or M42x2 SAE2 1/2" 53
117 M14x1.5 M20x1.5 M12x1.5 M18x1.5 M22x1.5 M14x1.5 SAEL 1/4" or M48x2 SAE3" 76
160 M14x1.5 M20x1.5 M12x1.5 M18x1.5 M22x1.5 M14x1.5 SAEL1 1/4" or M48x2 SAE3" 76




=B

AT E BRLA

MEZEHEERRRH

Nantong JinDa Hydraulic Co., Ltd

Mk
Add:

A =i
Factory Add:

$4% Sales Tel:

BR% Service Tel:

£ E Fax:
Hi4w P.C:

Mk Web:
E-mail:

IHEREHMEHRE 810 S - 408 = ( SHAE)
Jingdu Building,No. 810 Heping Road,Qidong City,
Jiangsu, China

IAERFETRAEREPFILX 85
Yinzhong Industrial Park, Qidong City,Jiangsu, China

+86 513 83658661

+86 513 83658665

+86 513 83658663

226200

www.chinajindahyd.com
sales@chinajindahyd.com(international)
jd@chinajindahyd.com( E A )





